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61) 9 T D! T A U¢ 3R 1 feT T e #1 I« &

HTE T AHRUT g1 G & Ui 3R g1 ST 1 had AHadl & [ Ao 7, a3 gfd
M B aga: U a7 €t & Y ATGa1 BT 3G BT ST 8, BR bl & | Pad gt (&
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B3 A7 If3E ? Sruan gRs; a8 gon &1 4t gr T@T, 30am &1 off ur = g wife | aa @t
ZHfeTe W & 91y ¢ foh AT 8, WITaTH &t 949y AT B |

W ST TR BT AR SR -
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Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The model you ask _______is out of production.
1. to

2. at

3. with

4, for

Correct Answer :-

o for

2) Choose the appropriate preposition for the given sentence:

These brands are well known ____ you.
1. for

2. with

3.in

4. to

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

We can offer you these goods ___ market price.
1. to

2. below

3. on

4. in

Correct Answer :-

e below

4) Choose the appropriate prepositions for the given sentence:



The city will take a long time to recover ____ the damage caused the earthquake.
1. since, through

2. from, by

3. with, during

4, against, into

Correct Answer :-

e from, by

5) Choose the appropriate articles for the given sentence:

The jury will hold _____ emergency meeting half hour before announcing its decision.
1. an, an

2.3,a

3.an,a

4.3, an

Correct Answer :-

6) Choose the appropriate articles for the given sentence:

diploma in Computer Science from _______ university in India is recognised globally.
1. A an
2. An, an
3.Aa

4. The, the

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

importance of having backup of all data in your computer cannot be minimized.

1. A an

2.A a



3. An,a

4. The, a

Correct Answer :-
e The, a

8) Choose the option that best transforms the given sentence as directed:

My father is speaking to the man. His shop was burgled.

1. My father is speaking that man who had his shop burgled.
2. My father is speaking to the man and his shop was burgled.
3. My father is speaking to the man whose shop was burgled.

4. Speaking to the man is my father whose shop was burgled.

Correct Answer :-
e My father is speaking to the man whose shop was burgled.

9) Choose the correct form of verb for the given sentence:

You look very pale,areyou _____ ?
1. well

2. suffer

3. sick

4. ill

Correct Answer :-
e ll

10) Choose the correct form of modal auxiliary verb for the given sentence:

| have to work hard. | ______ pass this time.
1. might

2. can

3. could

4, must

Correct Answer :-



11) Choose the correct form of adverb for the given sentence:

The photograph brought back old memories.

1. lethargically
2. bluntly
3. instantly

4. lazily

Correct Answer :-
e instantly

12) Choose the correct form of adverb for the given sentence:

They visit their parents quite
1. frequency

2. innocently

3. regularly

4, sincerely

Correct Answer :-

e regularly

13) Choose the correct form of adjective for the given sentence:

Heis a member of the team. He is willing to give his time and energy to anything he undertakes
to do.

1. compassionate
2. callous
3. committed

4. insincere

Correct Answer :-

e committed



Choose the correct form of expression to complete the sentence:

She caughta ____ of the thief as he made his getaway.
1. glance

2. flash

3. sight

4. glimpse

Correct Answer :-

15) Choose the correct form of expression to complete the sentence:

Work at least six hours a day, or you cannot be sure of
1. fame

2. independence

3. popularity

4. success

Correct Answer :-

® Success

16) Choose the correct form of tense for the given sentence:

I__ with my father last night.
1. talk

2. spoke

3. speak

4. have talked

Correct Answer :-

17) Choose the correct form of tense for the given sentence:

Every Saturday the class on the tenth floor.

1. meets



2. will meets
3. meet

4. met

Correct Answer :-

e meets

18) Choose the correct form of tense for the given sentence:

| promise thatl ____ to work on time every morning in the future.
1. am getting

2. will get

3. get

4. would get

Correct Answer :-

o will get

19) Choose the correct form of tense for the given sentence:

Whenever | him, he makes rude remarks about me.
1. see

2. have seen

3. am seeing

4. saw

Correct Answer :-

20) Choose the most suitable determiner for the given sentence:

The old man had ____ heart attack this morning.
1. another

2. some

3. more

4. much



Correct Answer :-

e another

21) Choose the most suitable determiner for the given sentence:

Therewas ___ food to feed an army.
1. most
2. more
3. much

4. enough

Correct Answer :-

e enough

22) Choose the appropriate articles for the given sentence:

presentation you sent me yesterday is useless one; it has no value for either me or

anyone.

1. A an
2. The, a
3. The, an

4. The, the

Correct Answer :-

23) CANCELLED

Choose the correct form of adverb for the given sentence:

With sneakers on, the nurse could move more ____ among the patients.
1. quickly

2. carefully

3. slowly

4. correctly

Correct Answer :-

e quickly



24) CANCELLED

Choose the correct form of adjective for the given sentence:

Knowing no better, he used very ___ language.
1. inappropriate

2. spontaneous

3. accurate

4, correct

Correct Answer :-
e inappropriate

25) Choose the correct form of verb for the given sentence:

I my friend to lend me his caravan for my trip to the country.
1. counseled
2. suggested
3. persuaded

4. proposed

Correct Answer :-

e persuaded

26) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.



On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: According to the passage, what is the greatest difference of this latest game?
1. It is primarily aimed at children and adults who played the game earlier.

2. All of the above.

3. The games are imaginary and conducted within the confines of a room.

4. It forces players to get off their chairs and venture outside.

Correct Answer :-

« [t forces players to get off their chairs and venture outside.

27) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool's joke.

On April 1, 2014, Google Inc. announced “Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12



million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: Which of the statements is TRUE according to the passage?

1. On April 1, 2014, Ingress became the first mobile app.

2. Anyone wandering around your neighbourhood might have lost his or her way.
3. Pokémon first began in 1995 as a Nintendo video game.

4. San Francisco-based startup Niantic Labs was Google’s first working lab.

Correct Answer :-

» Pokémon first began in 1995 as a Nintendo video game.

28) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.



Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: What is the passage all about?
1. Pokémon Masters

2. Pokémon Go

3. Pokémon gamers

4. Pokéstops

Correct Answer :-

e Pokémon Go

29) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’s because the game uses the phone’s GPS and



camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: The game is played using which of the following elements?
1. Camera only

2. All of the above

3. Google Maps only

4. Mobile’s GPS only

Correct Answer :-

o All of the above

30) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.



Question: The underlined word ‘ironically’ in Paragraph 2 of the passage means:
1. Honestly

2. Sadly

3. Undoubtedly

4. Sarcastically

Correct Answer :-
 Sarcastically

Topic:- General Knowledge

1) A scores more runs than B but less than C. D scores more than B but less
than A. Who is the lowest scorer?/ A 3 B 9 3(f¥&® I 910 TR C A FAIA TR D
A B 9 3fU® T I g A § FH I g1 | fra 999 &9 31 §91?

1.D
2.B
3.C
4. A

Correct Answer :-

- B

2) Find the missing character./ gﬁqﬁmﬁl

1.F
2.L
3.G
4. H

Correct Answer :-



3) 1f you are 9" person in a queue starting from one end and 11t" from
another end, what is the number of persons in the queue?/ ui%&rrqwﬁ'w
BRI 7id AfkT & TYT G DR 119 VM W §, FaR W Afdaal o1 G= fra- 82

1. 19
2.21
3.20

4. 18

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ f=fefad u=wa A fow e fawel A & Twaf=a sigR/=reg/€E i
|

Lid : Box:: Cork:?/ eap ; fesa1 :; BIh:?
1. Brittle/ HTR
2. Soft/ JdgH
3. Bottle/ CIG[N]

4, Light/ U®RI

Correct Answer :-

« Bottle/ EIG[]

5) In the following question, select the related letter/word/number from the

%:;r’r;n alternatives./ f=fefad uwa o fow e fawel # & TafRa sigR/Rreg/€s &1
|

5:124::7:?
1. 342
2.343
3.248

4,125

Correct Answer :-

e 342



6) In the given figure, the triangle represents people who visited Mysore,
the circle represents people who visited Ooty, the square represents people
who visited Munnar. The portion which represents people who visited both
Mysore and Ooty is/ﬁqwmﬁ, ﬁﬂﬁﬂ?ﬁﬁaﬁm%ﬁl@ﬁﬁﬁ?ﬁaﬂm,
gl I A 1 g=iTen & oA &l &1 1 fpan, o S @il &) gxifar @ Rl R 1Rt
a1 SIFaT & 371 aafeTal &) gRifar @ S AR aUT Sl gl BT SRTHd 82

1.D
2.B
3.G

4. C

Correct Answer :-

7) DIRECTIONS: Solve the alphanumeric series given below:/ fadar: T-ﬂ%iﬁﬂ'&‘
S&RTDH T Yar 4oft B g D¥:

?, C4E, E6I, G8O, I10U

1. B2E

2. B2A

3. A2E

4. A2A

Correct Answer :-

« A2A

%
¥s



ol oen

eI

W5

Correct Answer :-

9) Which of the following interchange of signs or numbers would make the

given equation correct?/ 9 # A HI9- g a1 I & Srger-gee H31 W faar
T GHIHR0T Tt gRI?

(18 +9) +3 x5 =45
1.+ and +/+ 3R +

2.3 and 9/3 3R 9

3.18 and 5/18 3R 5

4. X and +/x 3R +
Correct Answer :-

. +and+/+3ﬁT+

10) Which figure represents the exact relationship with the variables given

in questions? /I 3T fa wy # AT v sraual & wry fAfda ey &1 g=iid 32

QO o
Hard bed, Sofa, Furniture/ gTs 98, |I%I, BA€R

1.D

(a)

2.B
3.C

4. A



Correct Answer :-

11) 600 x 3250 = 10000 =7
1. 165
2. 180
3.195

4. 175

Correct Answer :-

« 195

12) With which of the following is the MPTRIFAC related to? / H.. W& A9
H 3 fraw awfia g2

1. Transportation / aRkdgd
2. Infrastructure Development / §HaTEl gl &1 fadwr
3. Investment Facilitation / ﬁaﬂﬁ{[ﬁ‘iﬂ

4. Education / fRrem

Correct Answer :-

« Investment Facilitation / ﬁémaﬁgﬁw

13) In 1998, how many districts were carved out of Madhya Pradesh’s large

districts?/ 1998 ¥ U WS & g3 forai A & fara= fra o1 fFrmfor gom a2
1.15
2.16
3.18

4.17

Correct Answer :-

14) If one third of the fourth of a number is 15, then three tenth of the

number is: /TS fHl T2 & TP fIBTS BT TH AT 15 Y, dF IH =T BT 3/10 FIT FRN?
1.36



2.35
3.45

4.54

Correct Answer :-

15) The Union Ministry of Health and Family Welfare has recently launched
the phase of the measles-rubella vaccination campaign./ P W=

3R TRAR ST W 3 BT € H GERLEAAT ABERU ARAA D RO P
URY frar g1

1. Third/dERT
2. Second/gax1
3. First/Ugdll

4, Fourth/ﬂar?-ﬂ

Correct Answer :-

« Second/giR

16) Shyam's present age is 3 times as his son. After 10 years, the sum of
their ages will be 76 years. Then the present age of Shyam is:/ TMH CARCRUIE
3T, 30 G | o 1 3 110 T 91,3711 3T BT N 76 T §1 ST LA Bt qodq Mg 3:

1. 42 years/42 a4
2. 45 years/45 ¥
3. 39 years/39 Gl

4. 47 years/47 CL

Correct Answer :-

. 42 years/42 9%

17) A can complete a piece of work in 6 days while B can complete the same
work in 12 days. If they work together and complete it then, the portion of
the work done by A is:/A T& &TH &1 6 f&-1 § WH HdT1 8, 9afP B I wH w12 i
H wedr 3 1afe S HIY HTH HIP BT T B4 8, a1 A A fraar fewan & fFar

1

b | =



| b

Wil =

4.

Correct Answer :-

18) 18% of which number is equal to 12% of 75? /fFd HBT BT 18%,75 P 12%
& SRTER gHM?

1.2
2.50

3.100

3
4.2

Correct Answer :-

19) Narmadapuram was the earlier name of the district of - / T-Iﬁ&'l‘g@[mﬁl@f
DT YYH ATH YT?

1. Shajapur/ RISITYR
2. Balaghat/ dTdTdTC
3. Hoshangabad/ gIRITETG
4. Singrauli/ﬁi’ﬂﬁ?ﬁ

Correct Answer :-

« Hoshangabad/ gRiETG

20) The LCM of two numbers is 1920 and their HCF is 16. If one of the
numbers is 128, find the other number./ﬁmaﬁmﬁ.ﬁ.wzo%?Rﬂ'q.ﬁ.m%l e
TP HSIT 128 §, Al goR WS 91 B |

1. 320
2. 260
3. 240

4. 204



Correct Answer :-

e 240

21) Two partners X and Y start a business by investing Rs.50,000 and
Rs.40,000 respectively. What will be the ratio of their profits at the end of
the year?/X 3R Y 7 T&% TR & HUIM: Rs.50,000 TUT Rs.40,000 B Goit fHa=r 5t | ad &
3 ® 3-8 for orgura & & frawm?

1.1:4
2.1:2
3.5:4

4,2:5

Correct Answer :-

e« 5:4

22) The Basdeva singers always wear yellow and carry an idol of on

;%e?:%head./w%mmweﬁmtﬂﬁiﬂ$muﬁ%aﬁ?mmw 3t gfd
|

1. Lord Shiva/ H¥a @
2. Lord Ram/ HTdIH IH
3. Lord Krishna/ HIdlq W[

4. Lord Brahma/ HTdI- d&ll

Correct Answer :-
« Lord Krishna/ HIdIH W[

23) Where is the Nilkanth Shrine and Nilkanth Mahal situated?/ Hid@s AfeR
3R s v vl fR@ 8?2

1. Panchmarhi/q%lﬂ‘c,ﬁ
2. Mandu/ ATg

3. Khajuraho/ GSRTg!
4. Orchha/ 3fR&T

Correct Answer :-

« Mandu/ #lg



24) A and B can separately do a piece of work in 9 days and 18 days
respectively. How long will they together take to do the work?/ A ddT B 3l

3o <t ST B pHE: 9 9YUT 18 A A Y P g, df 1 FUaP 39 1 &1 fvaq fa &
P Hhd 82

1.9 days/ 9 faa
2. 18 days/18 faa
3.10 days/10 f&A

4. 6 days/6 fad

Correct Answer :-

« 6 days/6 faa

25) If the length and breadth of a rectangle are in the ratio of 3:2 and its

perimeter is 20 cm, then the area of the rectangle (in cm2) is: /ot emad &t
TSI IYUT ST BT STUTA 3 : 2 3 TUTIRHATT 20 A} B | AT BT AABA 71 HI|

1. 24 cm?/24 JH2
2. 36 cm?/36 92
3. 12 cm?%/12 Q¥R

4. 48 cm?2/48 JHI?
Correct Answer :-
e 24 cm?/24 JH2

26) If the circum-centre of a triangle lies outside it, then the triangle is: /3¢

AABC T 3Tg &= IYsl & a1eR 8, a9 Ay« 2:
1. Obtuse angled/ 3ffd® HIvT

2. Acute angled/ﬁiﬁaﬂ'ﬂT

3. Right angled/ﬂﬂﬁm

4, Equilateral / 9HdTg

Correct Answer :-

« Obtuse angled/ 3% iUl

27) Who was the first to use gunpowder in India?/ HRd # GdUYH dR=¢ BT IUART
FR aTdl AfaT P A?

1. Allauddin Khilji/ 3iearag - fRaereht



2. Nawab Siraj-ud-Daullah/ a1 RR 35-iaig
3. Sher Shah Suri/ R B G

4. Babur/ dldR

Correct Answer :-

« Babur/ dldR

28) The Madhav National Park was previously the hunting reserve of the

Maharaja of — / ATYd TR IAT UG P61 b HERTS BT FRIGR MRFET & T2
1. Indore/ ¥R

2. Gwalior/ TaTferR

3. Jhansi/ gt

4. Maheshwar/ Tg%R

Correct Answer :-

. Gwalior/’ﬂTl%ﬂR

29) A bus moving at a speed of 45 kmph overtakes a truck 150 meters ahead
going in the same direction in 30 seconds. The speed of the truck is:/ 45 f&dl/

HeT 3t Tfd A Tdd §4 U 99, W49 ¥ 150 HieX 3T o138 TP DI UR B H 30 GHUS BT J07
<l 81 P Dt Afd I |

1. 24 kmph/24 f&Hl ge
2. 28 kmph/28 farHl/ HeT
3.27 kmph/27 &l ger

4. 25 kmph/25 fadl/ gaT

Correct Answer :-

- 27 kmph/27 f&HY g

30) When was the Kalidas Academy set up?/ TR ABIGHT Bt RITYT 9 g8 41?
1. 1979

2.1977

3. 1980

4.1978

Correct Answer :-



31) When was the NITI Aayog formed?/ ﬁrﬁrarrtﬂﬂmﬂa——rmgan Yr?
1.2016

2.2014

3.2015

4.2013

Correct Answer :-

« 2015

32) What sum of money will amount to Rs.520 in 5 years and to Rs.568 in 7
years at simple interest? /&9 Al ¢ I ATYROT 471 V 5 961 # 520 = 3R 7 q6f A
568 ©U gl SN2

1. Rs.510
2. Rs.400
3. Rs.220

4. Rs.120

Correct Answer :-
e Rs.400

33) What is amount of the first loan agreement that India has signed with
the NDB for the development and upgradation of the district roads in

Madhya Pradesh?/ A0 Ue¥ # fordl Ts&! & Ao 3R 3909 & o Al & Iy yRd
3 fra=ht IR & e gga o 9w W gwneR P d?

1. $350 million/ 350 fafea Sier
2. $250 million /250 Ao SR
3. $300 million/300 fafeA SR

4. $400 million/ 400 fAferad TR

Correct Answer :-

« $350 million/ 350 fafe Siar

34) What is the capital of Netherlands?/ Fieids &I IS4 F1 82



1. Amsterdam/ Q‘RE@'H
2. Vienna/ faun

3. Warsaw/aw
4. Canberra/ PTORT

Correct Answer :-

« Amsterdam/ Q‘RE@'H

35) Two persons enter into a railway compartment in which 5 seats are
vacant. In how many different ways can they sit?/ﬂ’fﬂﬁwwwa?%@ﬁg'ﬂﬁ
2, forad 5 die el 81 9arsd 3 fram - AT 7R 9 98 9d 32

1. 20
2.6
3.12

4. 36

Correct Answer :-

« 20

1 1

36) y = : 1 = E
2 +> — 2 +
If Z2then* /4fe 28,

1
1,2
3
2.5
5
3. 2
2
45

Correct Answer :-

37) The Nadisukta hymn is in the - /FgaHT Yo HH-Adg A 82

1. Sam Veda/?l'lzfa?.(r



2. Rig Veda/ B dg

3. Yajur Veda/ g9dq

4. Atharva Veda/ G{%ﬁa"c{

Correct Answer :-

« Rig Veda/ B dg

38) The average weight of 20 students in a class is increased by 0.75 kg
when one student of 35 kg is replaced by a new student. weight of the new

student (in kg) is:/20 faenfda &1 sitea goi= 0.75 fopun 9¢ wirar 8, Si9 v faemf e
oI 35 fopuT © &) v 3 faem<ff g1 ufaeuritea foran siran @, =1 faenf &1 awr g &9

1. 40 kg/40 f&ur
2. 45 kg/45 four
3. 50 kg/50 foam
4.35kg/35 f&3n

Correct Answer :-

« 50 kg/50 T

39) By selling an article for Rs.105,a trader losses 9%. To gain 30% he

should sell the article at:/T® IR} Th a¥g H! Al 105 FUY & 99a1 3, a1 3° 9% B
T Bt 81 30% U FUM & T 34 avg 3! frd fpua wr I==m TnfRe?

1. Rs.150
2.Rs.126
3. Rs.144
4. Rs.139
Correct Answer :-
« Rs.150

40) The sum of two numbers is 40 and their difference is 4. The ratio of the
number is: /<l TBATSHT BT AR 40 § TUT SBT 3iaR 4 8,91 STBT SJUTH 7T HH |

1.21:19
2.22:9
3.11: 18

4,.11:9



Correct Answer :-

41) Which of the following tribes believe themselves to be the descendants

of Dravid?/ frafifad & @ o1H- It s-enfa W4 &1 sfas &1 939 9 62
1. Bharia/ HTRar

2. Gond/ Mg

3. Bhil/ i

4. Baiga/aTﬂ

Correct Answer :-

. Baiga/aTﬂ

42) The Chaunsath Yogini Temple belonged to the - /Wﬁﬁ“ﬁﬁﬁ?ﬁ:{-'ﬁf
YISt & i 32

1. 11t century/ 11 df Frdred
2. 9th century/ 9 df TrdTsdl
3. 10th century/ 10 o rdTed!
4. 8t century/8 df Trarsdl

Correct Answer :-

« 10" century/ 10 df TrATSAT

43) If 'pink' means 'yellow'; 'yellow' means 'white'; 'white' means 'blue’;
'blue' means 'red’; 'red' means 'black’; and 'black' means 'green’; then what

is the colour of clear sky?/ af¢ @t &1 3 "diar g, "fiemr &1 ordf e, The' &1
3 <Her, e &1 3 e, rarer &1 3 'Hrar 3R 'Hrar &1 34 g1 7, °f 9w
STHHT BT T HT R

1. Green/ &1

2. White/ It

3. Red/ did

4. Black/ &Tdl

Correct Answer :-

« Red/dld



44) If 'LAME' is written as 'ODPH’, how can '"MALE' be written in that code?/
gfe 'LAME' &1 'ODPH' for@r Srar 8, @ 39 % § 'MALE' & {9 yoR forda?

1. OPDH
2. DOPH
3. HOPD

4. PDOH

Correct Answer :-
« PDOH

45) If '"MACHINE' is coded as '19-7-9-14-15-20-11', how will you code
'DANGER'?/ 4f¢ 'MACHINE' &1 '19-7-9-14-15-20-11" $fed fFarwmars, @
'DANGER’' &T $¢ T gHII?

1.11-7-20-16-11-24
2.10-7-20-13-11-24
3.13-7-20-9-11-25
4,.13-7-20-10-11-25
Correct Answer :-

« 10-7-20-13-11-24

46) A copper wire is bent in the form of a square with an area of 121 cm?2.If
the same wire is bent in the form of a circle, the radius (in cm) of the circle

22
is (Take, " 7)1/ Rt 1 e 3w g v e it 1219 81 92
o T B g & w0 et o, A A Bem gy 7
1.8
2.7
3.12
4, 14

Correct Answer :-

47) A train passes two bridges of lengths 800 m and 400 m in 100 seconds
and 60 seconds respectively. The length of the train is:/WWﬁgﬁw



TS AT SPHT: 800 HITT TUT 400 HICT § B TR B A HHT:100 APUS YT 60 AHUS BT JHY
Ad B 1 YOS Y evars a2

1.200 m/200 #t.
2. 80 m/80 HI.
3.90 m/90 HI.

4. 150 m/150 Hi.

Correct Answer :-

« 200 m/200 Hi.

48) A mixture of 80 liters of wine and water contains 60 percent wine. How
much water must be added to make it 50 percent wine in the new mixture?/

AT 3R =T a1 80 e FUYOT A 60% AfeRT 21 fpa=m urt firemar sire aifes Au fayor &
AfERT 50% B2

1. 18 liters/18 @icx
2. 12 liters/12 @i}
3. 20 liters/20 T
4. 16 liters/16 ciiex

Correct Answer :-

o 16 liters/16 e

49) “It was a new Charter of Slavery”, who gave this statement about the
Government of India Act AD 1935?/ "WMWWW@W YT, HIRd HIDIR
SfUf o 1935 & Ik | g5 99 fha faan ure

1. Mahatma Gandhi/ #gTeT et

2. Jawaharlal Nehru/ SaTgR dId 18&

3. Sardar Vallabhbhai Patel/ 9RGR deadHHTS Ucd

4. Subhas Chandra Bose/ GHT¥ 9 &Y

Correct Answer :-

« Jawaharlal Nehru/ S/dTeR AT 7g&

50) Where was the State Minor Forest Produce Federation established?/ Isd

Y I ST S R BT RITYAT Hgl g3 U412
1. Indore/ ¥R



2. Gwalior/ TaIferiR
3. Bhopal/ HiaTd

4. Jabalpur/ SI§eYR

Correct Answer :-

« Bhopal/ HiaTd

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fAc=r: 1 feu 7T v § 5 Y= ik 39
1 $o frepd fau e g1 3y AT 1T wy= & I AT @ YA 8 A Td3a aa | i
wodta gia i | et st &) ufew fihr aa sifere f faw e et & @ w-ar e fg 1o
HYHI BT AHINT U J SFE HdT 8, TTe JawTd 9 o M g

Statements:/ PY:

All books are pins./ F‘l-ﬁﬁo_clﬁ, ﬁF-r%'l

Some pins are desks./ @ fi, 3§

Conclusions:/ ﬁ'mﬂf:

I. Some desks are books./wéﬁ, ﬁﬁlﬁ?l

I1. All desks are pins./ F‘l-ﬁé'w, ffFI%'I

III. No desk is book./ ﬂﬁé@?ﬁ,ﬁﬁlﬁﬂﬁ%l

1. Only I follows/ &dd I G{WW%

2. Only either I or II follows/ &%dd T I 4T 11 WW%
3. Only either I or III follows/ %ad T I T 11 3IERU BT &

4, Only either II or III follows/ odd T 11 T 111 GENTUTWT%

Correct Answer :-

« Only either I or III follows/ odd a1 I 4T 111 &IENTUTWT%’

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi“«’r: ﬁﬁqwmﬁwmwaﬁ?wﬁ?
1 $o frepd fau e &1 3y AT T Sy & I WA @ YA 81 3 Tdga aa S i
woita gid 811 Tt sl 1 ufee fhr aa Fifme i few e et o & S9-ar fsed i g
FYHI BT TG U F IRV BT 8, TS TI7Td a0 $© o |



Statements:/ HY:

Some Cows are deer./ 3 TH, &R &1

Some deer are fish./ $9 {34, 7ol €1

Conclusion:/ ﬁ'wﬂf:

I. Some cows are fish./ $9 TH, m%'l

II. Some fish are cows./ W'ﬂ@‘cﬁ, TITEI%'I

1. If neither conclusion I nor II foIIows/?IﬁQﬁFéﬁﬁfI qII S@TUTW%
2. If only conclusion I foIIows/qﬁWﬁElﬂfI &ENTUTW%

3. If only conclusion II follows/ afc Had sy 11 &IENTUTW?IT%

4. If either conclusion I or II follows/ Tf¢ TT fASHY I AT 11 3IERUI HRT §

Correct Answer :-

« If neither conclusion I nor II follows/ af¢ = fAswt I T 11 S@TUTW%

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ?{r: ﬁ%%qwmﬁwmwaﬁvwﬁi
e $© fspd fr e 1 emue! fAT T Hy= @) T 9T @ Ha € Jdaa aat | e
Udid gid g | It Aot @1 ufeu fibr au Fifeme f fau e faseul & ¥ Hi9-a1 faeed 2w e
FYI BT AHETT TU I IR0 AT 7, IS Td9d 9 $3 i g

Statements:/HY:

All rats are cars./ Hﬂ-ﬁﬂ\%, W%'I

All cars are tiger./Hﬂ-ﬁW, EITEI%'I

Conclusions:/ e

I. Some rats are tigers./ $ g, U

I1. All tigers are rats./ H'J-ﬁEIT'EI, qﬁal

III. Some cars are rats./ P9 PR, ij\%%l

1. None of these/ $7H ¥ ®1s ol

2. Only I and II follow/ %ad I 3R II 38RV G g |

3. Only I follows/ %ad I 38R0l HRT & |

4. Only 111 follows/ ad I1 3FJARUI BT & |

Correct Answer :-



« None of these/sﬂﬁ@fﬁ'sc:@'

54) DIRECTIONS: These questions are based on the basis of following
information. Study it carefully and answer the questions./ fAdw. Ay

frafefad serR w snutfid 21 59 o A ufeu o Ul & I« difvre|

Eight executives J, K, L, M, N, O, P, & Q are sitting around a circular table for
a meeting. J is second to the right of P who is third to the right of K. M is
second to the left of O who sits between P & J, L is not a neighbour of K or
N./ 36 FABRY I, K, L, M, N, O, P, 3R Q T®h JuTPR A & 34 I TP dod o1 & g
ISP HFSUAGHIY, HK FSUATRRIZIM,O FAWAGIRITA P R I F g
d3T21 L,K T N BT US98 81

Who is to the immediate left of L?/ L & fNdead a1 oI 82
1. K

2. None of these/STH I &5 ol

3.Q

4.0

Correct Answer :-

« None of these/‘s?lﬁ@aﬁ'scﬁ

55) From which of the following districts of Madhya Pradesh does the River

ghambal originate?/ Aty WX & fAufefad foral # § fra fora @ wvaa 7d 91 st gidt
2

1. Indore/ &R

2. Khandwa/ @gdl
3. Dhar/ 4R

4. Raisen/ YT

Correct Answer :-

. Indore/ 38R

56) The Fair of Math Ghoghara goes on for - / {& TYRT &1 Hal feaq fel 9 aear

22

1. 21 days / 21 f&q
2.15 days/ 15 &A1
3.10 days/ 10 faa

4.1 month / 1 HlE



Correct Answer :-

« 15 days/ 15 faq

57) In which year did Dost Mohammad Khan of Bhopal breathe his last?/
YT & g Higre @ A fora o | sifow g <2

1.1728
2.1727
3.1726
4.1725

Correct Answer :-

- 1728

58) In which of the following months is the Khajuraho Festival of Dances

held?/ fafafaa wd= 4 @ $19- F 789 ¥ W18 T SId &7 e far ST 32
1. March - April/ rd- 30

2. April-May/ 30d- As

3. January - February/ SHARI- HRas)

4. February - March/ TRaR]- Arf

Correct Answer :-

« February - March/ TRaR)- Arf

59) In which state is the Sharavati Power Project situated?/ YRG! UTaR
uf¥aeT fy 3sg A fRa 82

1. Maharashtra/ HeRTY
2. Karnataka/ PHlch
3. Kerala/w

4. Tamil Nadu/ dfie-Trg
Correct Answer :-

« Karnataka/ FHlch

60) Thakur Dowlat Singh, who fought against the British in the Revolt of AD
1857 belonged to the district of —/3THR Siad Rig, o fafewr ¥ fawg 1857 & fagie



H S A, P-4 ford @ wwifta 92
1. Dewas/ ¢drd

2. Umaria/ SHRAT

3. Seoni/ﬁlT:Fﬁ

4. Sheopur/ R
Correct Answer :-

« Dewas/ ¢ad

61) The ratio of A to B is 4:5 and that of B to C is 2: 3. If A equals 800, then C
equals:/ A 31X B T 3UTd 4:5 § T4T B 3R C HT 3JUTd 2:3 31 Ife A FTHF 800 B, @ C FT
U 91d $

1. 1200
2. 1500
3. 2000

4. 1000

Correct Answer :-

e 1500

62) The ratio of the cost price and selling price of an article is 20: 21. What is
the gain percent? /T a3 & AN Yed qYT fashd G &1 3UTd 20: 21 &, at a1H
yfo=ra 1d B

1. 5.5%

2.6%

3.5%

4.6.25%
Correct Answer :-
« 5%

63) Bharam, Setam and Saila are the major dances of the - / HH, Ryaw aiv
Tar fra seenfa & UgE T 82

1. Bhil tribe/ Y& SHeid
2. Bharia tribe/ HIRAT ST
3. Baiga tribe/ ST SiSTTdl



4. Gond tribe/ TS ST

Correct Answer :-

« Bharia tribe/ HTRAT ST

64) At what percent per annum will Rs.3000 amounts to Rs.3993 in 3 years
,if the interest is compounded annually? /¥ a1t st &1 2T A 3000 T4, 3 g A

3993 ¥ g1 wITEt, afe Tergfes same arfife 3 812
1. 9%

2.10%

3. 11%

4. 13%

Correct Answer :-

o 10%

65) 1 = [1+1<+{1+1+(1+1+2)}]=?
1.3

2.

A= N

ool e

4.

Correct Answer :-

66) Bal K_rishna Sharma ‘Naveen’ was a freedom-fighter from - / WTWT!IITI'Y
"TAI" Fel & WaAdl 9 A2

1. Shajapur/ RIMSITYR
2. Jhabua/ STg3T

3. Maihar/ﬁ%’?

4. Ujjain/ I
Correct Answer :-

« Shajapur/ RMSITYR



67) Point A is 40 m to the North of point B. Point C is 20 m to the West of point A. Point D is 30 m to
the South of point C. Point E is exactly midway between points D and F in such a manner that point
D, E and F form a horizontal straight line of 40 m. Point F is to the East of point D. Point G is 30 m to
the North of point F. How far and in which direction is point G from point A?/ ﬁ"g" A,B P IR H 40
Her $ gt R 31 g ¢, fig A & ufdm ¥ 20 Hex #t g W 81 f9g b, fig ¢ F afeor g 30 #t
IR B g E, figsni p o F & T & 9 yoR 8 % g b, E 3R F 40 Wex 9t vop &fawr @
;ﬁ%l figF, ﬁé;r)[?;q:q‘ﬁél fdg G, fig F & 30 Hiex e o1 3R 71 fig G, g A A fpa-it
W3R

1. 30 m towards West/ Uf3H &1 3R 30 Hic?
2. 40 m towards North/ IR BT 3R 40 Hiex
3. 20 m towards East /E[a‘aﬂéﬁ? 20 Hiex

4. 20 m towards West/qf%rq?ﬁ 3R 20 Hiex

Correct Answer :-

. 20 m towards East / Jd &I 3R 20 Hiex

68) If day before yesterday was Wednesday, when will Sunday be?/ af¢ §id gt
& & ugd &1 e guar o1 dt AR wa ghme?

1. 3 days after today/37I ¥ 3 &9 TG
2. Day after tomorrow/3 aTd &d & dIG &1 f&A
3. Tomorrow/&®d

4. Today/3S

Correct Answer :-
« Day after tomorrow/3H dTdl &d o &1 BT fd

69) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ Rt Tt IR fascni A A fi9
ol PR U & 3R U 9YE 9914 & A9 8 A B 91 39 g 9 78 82

1. 836654
2. 836475
3.836432

4. 836986

Correct Answer :-

« 836475



70) On heating a circular metallic disc with a circular hole at the centre, the
diameter of the hole will?/ T& Tid UTfA® Tl &I Hg H SUNRId B¢ 9 TRY fhar |rar
8, 99 B¢ ITAN?

1. Decrease/ W@TH
2. First increase, then decrease/ %ﬁaé}llfﬁﬁwﬁfﬂ
3. Increase/ él%‘ll

4. Remain the same/ HTIFR%‘II

Correct Answer :-

« Increase/ aéﬂll

71) Two positions of a dice are given. Which number would be at the top

when bottom is 2?/ T& U &1 ¢ fRAfaar &t 1 §1 Fi4- It Fem gad =i wr ghft e
H= 2 gm?

3

G

1.4
2.5
3.1

4.6

Correct Answer :-

« 6

72) A drug that prevents infection and decay is called a/an?/T&% 3Nufer s
THHUT ) WH B! &, 3R THD) T & S/ T Hel ATl o-

1. Germicide/ SHRARI
2. Antimalarial drug/ Bfaaafar siufy

3. Antiseptic/ 3 JIIQR Yh
4. Analgesic/ TISTERY 3ufYy

Correct Answer :-

« Antiseptic/ iJIIQ!i Yh



The acid that can be used as a hypnotic is?/ 9 & Q &1 3 RGP RS 1 RE
IUGRT fomar o 8

1. Tartaric acid/ TIERe® 3
2. Barbituric acid/ STfdegii® s

3. Butanoic acid/ SgcIHd &
4. Benzoic acid/ a\_rﬁw&lﬂ

Correct Answer :-

« Barbituric acid/ STfdei® 3

74) Sheela is Ravi’s sister-in-law. Ram is Ravi’s brother. Ram’s wife is
Sheela. Deepa is Ravi’s sister. Deepa’s mother is Shanti. How is Sheela

related to Shanti?/ a1 I &t UriAreh g1 3M, I &1 YIS 21 39 &) Uit i g1 S,
I oY 984 21 Srur oY |7 Trifa 21 e, wifa A 53 yer dd9fia 82

1. Daughter/?ﬁ
2. Daughter-in-law/dg
3. Mother-in-law/dmMd

4, Grand—daughter/tﬁ?ﬁ

Correct Answer :-

« Daughter-in-law/dg

75) The tissue that plays a leading role in the elongation of many bones is?/

fra & @ #19 fRa & i g # Aeyf yfireT v g:
1. Fibroelastic tissue/ UATRId] 3dh

2. Areolar tissue/ IFdT Ih

3. Spongy bone/ Tisit 3RY

4. Cartilage/ IUTRY

Correct Answer :-

« Cartilage/ IUTRY
76) The boiling point of water?/ SId &1 HYHIP fog g1 &
1. Is always 100°C/ ¥&d 100 °C

2. Depends on the atmospheric pressure/ aRIHSHN g R AR T §



3. Depends on the material of the container/ WWW&WW%%WW?E@W%

4. Depends on relative humidity/ Jmae 3gar R AR

Correct Answer :-

« Depends on the atmospheric pressure/ a@eﬁnmwﬁﬁm%

77) Hydroponics is the?/ gEsufay 8?2

1. None of these/ 370 I &g -Tg!

2. Water portion of the biosphere/ S AUSH H IUfRId S1d HRT
3. Water content of organisms/ Sial § IUfRYd 51

4. Loss of water by plants/ UTGU gRI 9@ &1 814

Correct Answer :-

« None of these/ 370 I ®Is Tal

78) The Central Drug Research Institute (CDRI) in India is located in?/ Cgip]
SR ST TR YRA § Fel FRUT T

1. Delhi/ feeel

2. Lucknow/ @43

3. Allahabad/ STGTEIG
4, Bangaluru/ W

Correct Answer :-
e Lucknow/ d&13

79) In the process of respiration, the component of air used is?/ 4= &1 Ufehar
W g BT P T UeH SUGRT & AT SITaT 82

1. Inert gases/ 3T T

2. Carbon dioxide/ HTa- SIS HES
3. Oxygen/ NICNIGE]

4. Nitrogen/ ?I%‘@Tﬂ

Correct Answer :-

« Oxygen/ 3fTRISH



80) Planets are?/Uggid a:

1. Luminous bodies that twinkle/ TH®eR fiE qut feafeard oft €

2. Luminous bodies that do not twinkle/ TH&eR fig S ferfenrd 761 §

3. Non luminous bodies that twinkle/ Wfﬁ’s’\?ﬁﬁﬂﬁﬂﬁ%

4. Non luminous bodies that do not twinkle/ 3rEH@eR s S feafenrd +ft 78 €

Correct Answer :-

« Non luminous bodies that do not twinkle/ 3=H®eR fig &Y feafeard o 78 &

81) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ fAqxr: fAafafae fawe @
Y 98 Usg gf1a o) fAT 7T 215 & 31eRY 71 T Hb 8] a1 S Pl &-

COURAGEOUS
1. SECURE

2. COURSE

3. ARGUE

4. GRACE

Correct Answer :-

« SECURE

82) DIRECTIONS: Arrange the following in a logical order: /3w A # &
3rdyuf w9 o syafRE w31

(i) Vegetable/ Hssil

(ii) Market/ 9N

(iii) Cutting/ ®eTs

(iv) Cooking/ GTAT I
(v) Eat/ 91

1. (i), (i), (iii), (iv), (v)

2. (iii), (i), (i), (v), (iv)

3. (ii), (i), (iii), (iv), (v)

4, (v), (i), (i), (i), (iv)
Correct Answer :-

» (i), (i), (iii), (iv), (v)



83) The fundamental role of root hairs in plants is?/ & | &1 BT $1 UIqU &
TGS

1. To protect the root from soil microbes/ S8l ! Jal # IR J&H Sital I s & forg

2. To protect the young root from damage by coarse soil particles/ @WW@[@
STS! P WIS 84 I 9 & fag

3. To absorb water and mineral salts from the soil/ SISI ¥ 9@ T @S AU DI SE=NVA
& o ferg

4. To bind soil particles to the root for firm fixation of the plant/ G@@W%Waﬁﬁﬁ
TG UIeY & U RIM R TS 8 & forg

Correct Answer :-

« To absorb water and mineral salts from the soil/ H@@WE@WW@W@H
& & forg

84) The term taxonomy was given by?/ & gRT Xsg "SI &7 Ufdure far
T1?

1. Rendle/ Igd

2. Theophrastus/ f@they

3. Bentham and Hooker/ si%H Gﬁ?W
4. A P de Candolle/ TTI S dalal

Correct Answer :-

« A P de Candolle/ TUI St &8l

85) The speed of sound will be higest in?/ @Y &} 7fa Yaiftes feaw g 8:
1. Dry air at 30°C/ 30°C IR I gar o

2. Dry air at 0°C/0°C WR I gar i

3. Humid air at 0°C/ 0°C W 3T g H

4. Humid air at 30°C/30°C WR 31l% gar

Correct Answer :-
« Humid air at 30°C/30°C W 3% gaT H
86) In human systems, vitamins cannot?/ H94d a3 # faefa= «ar 781 #vd?

1. Help in growth/ q@ﬁw



2. Help in metabolizing drugs/ JUTo=d 3N & T8 &t Hifd
3. Help in digestion/ U/ H U8™I®
4. Supply energy/ ol UGl & =0 H

Correct Answer :-

- Supply energy/ 34l Y&Idl & &U H

87) The process of elimination of water from any system is called?/ f&<t ot

1. Evaporation/ drsdi&or
2. Oxidation/ IeRilcRUT

3. Reduction/ Udg-

4. Dehydration/ IEERIERUI

Correct Answer :-

. Dehydration/ fAsiciieRur

88) The process of fission occurs mainly in?/ fd@sa ot forar amr=a: fFaA gt
&

1. Nuclear reactors/ AMH® T T

2. Chemical reactions/ e srffoear

3. The hydrogen bomb/ gIgsISH i

4. The sun/ {BJC

Correct Answer :-
« Nuclear reactors/ ATH®™G 47

89) The disease that is caused by viral infection is?/ & & & =1 7 fauryg
wifd g 872

1. Cholera/ %Trﬂ
2. Typhoid/ T3HIZS
3. Tetanus/ feeTg

4. Common cold/ HIYRUT ShTH

Correct Answer :-



« Common cold/ dIURT hTH

90) Which of the following plant spices is obtained from flower buds?/ e
" B AT T 3 & T Hfer & Ured fomam Srar 82

1. Clove/ @i
2. Cumin/ SIRT
3. Coriander/ f=a1

4. Nutmeg/ SIIIHhd

Correct Answer :-

« Clove/ @i

91) Turpentine is obtained from?/ c¥UeTSH &1 dd fHFIw Ut fbar imar 8:
1. Oak/ 3l

2. Pine/ Uled

3. Deodar/ GdaR

4. Crude petroleum/ &1 dd

Correct Answer :-

e Pine/ Uigd

92) One way of checking the expansion of the Thar Desert would be?/ YR &

AR & TR B WD BT AP T 51 ThdT 52
1. By digging canals/ Te @iel

2. Through artificial rains/ Hﬁﬁuaufm

3. Through afforestation/ g&RIqUl

4. By constructing water reservoirs/ Sid HSRUI I

Correct Answer :-

« Through afforestation/ q&mﬁw

93) A true fruit develops from the?/ U I B &I FHUI TS :
1. Carpel/ THIE g
2. Ovule/ SiWig ¥



3. Anther/ R

4. Ovary/ ISR

Correct Answer :-

« Ovary/ 3EREY

94) A person with which one of the following blood group is considered a

universal donor?/ ﬁaﬁﬁaﬁqﬁmw%wﬁraﬁmmﬁwm:
1.0

2.A

3. AB

4.B

Correct Answer :-

« O

95) A transformer is a device for?/ IABIRHR TP T ¢ ot

1. Converting AC into DC / AC YRT &I DC H uRafid &=ar g

2. Generating electricity/ ﬁmmm%’

3. Stepping up or down ac voltage/ AC aﬁéaﬁaammmaﬁ%

4, Stepping down or up dc voltage/ DC a’l@sraﬁaammmaﬁ%’

Correct Answer :-
. Stepping up or down ac voltage/ AC dicesl &l §¢1 IT HH B Tl &

96) How many triangles are there in the given figure?/ a’fTIi Gwﬁfﬁﬁb_cﬁﬁﬁﬁ

2

A A/
[N NN

1.9

2. 11
3.7

4. 8

Correct Answer :-



97) Inspector Sooraj travelled from his police station for 400 m. He then
turned left and travelled 500 m straight after which he turned left again and
travelled for 400 m straight. He then turned right and walked for another
600 m straight. How far is he from the Police station?/ $¥deY 3ol 310+ gfera
WY A 400 W F I H ¢ 1 98, 981 A 91T GSH 500 1 &) a1 3N Fd &1 ISP 916
Mt 95 91T g 7 3R 400 H &} g w3 €1 98 fe gt gd § 8k 3ATa 600 1 Ia &1 98
gRer e @ frat g 2

1. 1.1 km/1.1 Topeit
2. 1.8 km/1.8 Tt
3. 1.4 km/1.4 T AT

4. 1.0 km/1.0 Tt

Correct Answer :-

e 1.1km/1.1 fpe

98) Television signals cannot be received ordinarily beyond a particular

distance due to?/ T® gl & d1¢g €4t & Ryre sqafeya v 9 781, firad wife?
1. Weak antenna/ @HSIR UcHI & HRUT

2. Weakness of the signals/ RITd HHSIR 81 S1d &

3. Absorption of signals in the air/ Ry a1 gRT SN PR foran Srar g

4. Curvature of the earth/ Gl & HGER §H HRUI

Correct Answer :-

« Curvature of the earth/ Gl & gHIIGR G- HRUI

99) A steel ball floats on mercury because?/ wmﬁﬁﬁzuﬁﬁﬁaﬁﬁ%
Fiife:

1. Mercury does not allow any metal ball to sink it/ Wmlﬁﬂ'ﬁ?ﬁﬁ?aﬁ@eﬁﬁaﬂ
2. Mercury is also a metal in the liquid form/ ORI W4 T H@%Gﬁﬂﬁ &Wﬂﬁw%

3. The density of mercury is higher than that of steel/ UR &1 9 39T F 31 il &

4. A steel ball can be made to float on any liquid by suitable adjustment/ S DI Tig
fordft ot g o oRA & forg siazgs Rufd s aar g

Correct Answer :-

« The density of mercury is higher than that of steel/ UR &1 g 33T ¥ 34 gl §



100) The compound that does not from a clear solution with water is?/ Fg#

q S191 yerd ora & 1y fyera=t 7Y sqran 8
1. Baking powder/ “@lﬁﬁiﬂf

2. Sand/ dI¢],
3. Sugar/ QT
4. Caustic soda/ PP sl

Correct Answer :-



